B18E FBEFEEME(LRMNE (RUEEH EEIRIPER) N e EA

AL : FF)
Lo L IEIRCS) i P

= = il 17, 310, 121 122, 335 17, 432, 456

(& (&8 BN R) D (g 1)
Cprel TIERCT o B

-3 = T 0 of 0

X e = e A 0 0] 0

= 4 % ) 0 297, 816 of 297, 816

B ok ok E A 0 of 0

= + 3 i =) 17, 012, 305 122, 335 17, 134, 640

R 5 5 0 of 0




5180 HEEBEIE(XME (RIEHEEETNSER) B EBER

(g )

m B & 4 B X ff *x Bc 7 %
122,335
S = I 0
X B S F & 0

B & ™

E 4 F7) 1& & 0
= 2 X 3 & 0
Ed T Gy ] = 122,335
IR 5] & 0

- e s x x ERBEEHE ;&:*’*%%*ﬁi
(HRERIR D) 122,335
A-1 |KERERXEEREBESF 122,335
A-2 |KRELNEEEREEELEE 0
A-3 |RBAXREXFIREERREE 0
A-4 |DNBEEZERMNIRERESE 0
B-1 |RBREMHRFEREE 0
C-1 |AIUFKREHREFEEEGEEE 0
C-2 |FRERIRBEREFE 0
C-3 |HHEFDESIL - ZHEILEESE 0
C-4 [EBXILERIBRESE 0
D-1 |REIELEREEE 0
D-2 |REBFMEDHEESIL- SRt ESEE 0
D-3 |REMRSEREEX 0
D-4 |MBRRREISTRMHEE 0
D-5 |REFHERSREEE 0
D-6 |[FETCXEDE-OHDIAAMBZERSER 0
D-7 |NMEEBREEHFLIVUERSXE 0
D-8 |NMEEBORIEEFIFINRER 0
D-9 |MeEXFAREREEBMBFRI KSR 0
D-10 |EHAGHER AICESIEHIBEFAXRER 0
D-11 |Mulg - R R B EFHERERESER 0
D-12 |- R EREFEEESE 0
D-13 |HKELEEFRIBEE 0
D-14 |HiEEitEEFmRERESR 0
D-15 |/KEMREHEE 0
E-1 |[TRIDHZBELLIKYEE 0
F-1 | EREE 0
F-2 |FREEZ 0
F-3 |#MiHoREE 0
G-1 |EEYUNERFIIR -HESEE 0
1 122,335




EEBEILE{LENE (RESHEEENSTR) BAstExR (55180E)
Jiﬂz 294 & ] (B F)

R RBEE
R 2 2t nN56. BEER BEEC 448 #18[H At
B4 iRV ES EXESR =EL EXTES P ZATEA EE% POk FLNDOENE| (RIEIETOE RN (BB HEE+S
= =S #E'é‘éf%ﬁﬁ%ﬂﬁl: 92 i%%8) (E#E) ElE2 5 %8)
%8
RER EEH (€ A -1 - 12 - 1|KELAEFTEBEEEE BENEFTERLFERERSE BERRN =] - 25,272 25,272 0 20,217 20,217
=ER EET | A - 1 - 13 - 1|S$ENEFTEREEEE BEFESECATLRIESE BEERN 2 - 127,648 127,648 0 102,118 102,118




